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Prova scritta dell’11 giugno 2016: sintesi della soluzione 
 
 
 
Problema 1. 
 
1) Momenti d’inerzia assiali:  

Jx =
29
12

th3 , Jy = th
3 . 

 
2) Tensioni tangenziali: 

τ zη =
3F
29th3

η(4h−η)   (AB, BC); 

τ zη =
6F
29th3

(3h2 +ηh−η2 )  (BE). 

Tensioni normali (ξ = z/h):  

σ z =
6F
29th2

(10−ξ )(2h−η)  (AB, BC); 

σ z =
6F
29th2

(10−ξ )(h− 2η)  (BE). 

 

3) σ id (A) =
12F(10−ξ )

29th
,  σ id (B) =

3F
29th

4(10−ξ )2 + 27
 

(AB); 

σ id (B) =
6F
29th

(10−ξ )2 + 27 ,  σ id (O) =
39F 3
58th

  (BE). 

 

  σ id ( A) =σ id (B)  per   z = 7h ;    σ id ( A) =σ id (O)  per z = 10− 39 3
24

⎛

⎝
⎜

⎞

⎠
⎟h ≅ 7,2h . 

 
4) Tensioni tangenziali: 

τ zη = −
F
4th3

η 3(2h−η)   (AB); 

τ zη = 0     (BE). 

Tensioni normali:  

σ z = −
F 3
2th2

(10−ξ )(h−η)  (AB); 

σ z = 0     (BE). 
 


